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JInnennast uarepnoJsinust (Mathcad)

X:=(0 60 90 120 180) o o
vi=Y!

Y:=(0 0866 1 0.866 0)

fl(x) := linterp(X, Y,x)
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linterp(X,Y,30) = 0.433

0.8
f1(30) = 0.433
Y 0.6 7
oo £(30) = 0.5
fl(x)
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Cuanann-uarepnouasuus (Mathcad)

X:=(0 60 120 180) X=X

Y:= (0 0.866 0.866 0) Y:=Y'

o T
fs(x) := interp(lspline(X,Y),X,Y,x) Eix) o= Sm(ﬁ)

1 T T
8 £5(30) = 0.498
Y 0.6F fS(QO) - 0.996
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MeToaq HAMMEHBIIINX KBAJAPATOB
Peaanm3anusa B Mathcad

ORIGIN'=1 n:=6

(0 (0.9 )
1 3.2
2 4.5
=13 H=1 g
4 0.5

x5 ) \ 10.4




MeToaq HAMMEHBIINX KBAJAPATOB
Peaanm3anusa B Mathcad

1.052
1.986
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X = A— B:[ ] /9\04:: Xl al = X2

f(x) =ap+a;x
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8 ./// g
f(t) 7 corr(f(x),y) = 0.991
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see A //’8




